J— AR ER

BERISV—ER

SME6FE2 AR%E

($isd)

e EERRE |#ans | s | ouE | s | gxE
ENHAT | LoD [T SREREAR 14,3008
B #lE ®lE | [24rAzEsncesn)
TOWRVLRDER  |27,500M 29,700M 31,900M
(#5015 E +OBDA#R)
RiEE RIS 90% | 180% | 240% | [grzmam 5.500M
EERA 25,640M35,720M[43,920M52,1208[60,320M
R EE24T7AR% PY PY PY B ERER 72,940M 85,220/ 93,420/ |101,620M|112,020M|
(56IEH+0BDs1#) ERET1 4 ALLEETY
4 BT 2,000M8|%
BRIEIRE ® ® () SERAEZIS] 2,000M@5]%
D BA&-BIXBYEE| 2,000M5|%
- < FHZ
7 | ERTEEHFR ® ® ® ‘ffj?’;' — 1.000m51%
WTA=A/=)E
FETNAF— hIE| 2,000m51%
ANy K74 MtEhzRzE 2,200 @ [ = —
BARSHERT |03 940m|76,220m|84.420m 92,620/ 103,020
BRRE |
HREDXEDX6HASR| O [ ) o
———— LohWEiR HEX
EBAT 3y o o o
EERRE |(sans | s | pws | ks | gxE
BHREREAR 14,300H
= BHA
L | RE TRER® x PS ® | [247REzsrGeEE)
(O=KFAB) LoAWRDSE#R  |20,900M 23,100 25,300
5 (#5015 E +OBDA#R)
TUOR TR SIS - B EFFHREA 5,500/
X [ [ EERA 25,640M(35,720M 43,920/ [52,120M[60,320M
| (#W50EE) —
SEtERERA 66,340M| 78,620/ |86,820M| 95,020/ 105,420M|
i —am = . BRET 14 ALLERTH
Y | T L—+ER- AR x ° Il 2,000M51%
PR FEAEES 2,000M5|%
FARAE—Y N
=7 A7 LFq=2.Y=7 8| 2,000M51%
TL—=FF 1 IWHEHR FETNRE—pEIEI
L I=F 7 MER X ® ® igﬂgﬁm? 60,340/ |72,620/|80,820M|89,0201 |99,420/
Y v =R
|\ NyFsy—2H —
EVHATER HEXR
fié | S0 7 /51 2 X ® ® EERAE |GADE | \Us | oS | AUS | BAS
HigARERH 14,3000
B & R OKIEEH P () () 244 AEESR
ke 9,900M 12,100M 14,300M
£—LRFUF % % ° EHFHER 5,500/

EERA 25,640M|35,720M[43,920M[52,1208[60,320M
< . e AtERER 55,340M|67,620M|75,820M|84,0208|94,420M
(| TTAXT N E—iFR X x ® | Isarmms 2,000/@31%

h ) BAZBIFAT  |53,340M]65,620873,820M[82,020M[92,4208

0 ENERER X X ()

R zma (aTHOETE ) A a ° THEYEF v ssnFTay

] A7 a VI

u ~ EERAE BOBE |MRopnE| x W E | HAS
FIZHRY) - #9EE (K& 1 5knklA) 3,300M Ny TS 3,300M | 4,400M | 4,400 | 6,600M

| (Sknig+1,100/)  |(1028% ) _

. — ’ THEYSETR2E 7,700M | 9,350M | 11,000M | 13,2008
E|REmE ET50mET 22001 o e | [E=FwmiE=m @%517) 25300/ 30,8008 33,0008 | 7l &
A| (25knE+1,100M) (25 +1,1008)

. OHMAHEIE 5,500 F. 4WD E| 3,300 HDEELICHEY ET,
> A Ny ~ X o o >t gt ~
SrER0>=22) ¢ | ° ZOM. TFRGRDSTEVELESBMLEDETEL,
@=7 X=F7 OR—HBTHLEEBPERICLYERBHOLSENIRLEZIBEIHYETOT. ERIEIHRLLE,



